CoverBuddy

Installation Instructions

Mounting Bracket— |

Side Pivot Arm— |

To assemble & install:
1. Using the #10 x 1" screws, attach the right and left

Mounting Brackets to the appropriate sides of the spa.

CAUTION: to prevent splitting of the wood cabinet, pre-
drill holes with a 1/16” drill bit.

Mounting height is optional.

8" ({r 12”/

Spa shell without cover

- 9”

By positioning the Mounting Brackets 8” down from the
top of the spa shell, approximately 9" clearance behind the
spa will be needed. Mounted at this position, approx. 75%
of the spa cover will be standing above the he spa surface
in the off position. By positioning the Mounting Brackets
12" down from the top of the spa shell, approx. 15”
clearance behind the spa will be needed. Mounted at this
position, approx. 50% of the spa cover will be standing
above the spa surface in the off position.

. Connect the Side Pivot Arms to the Mounting Brackets.

3/8” by 3” bolt

mounting bracket washer

After the Side Pivot Arms are connected, tilt them back to
the upright position.

. Position the spa cover (in closed position) on the spa,
making sure that all four corners are properly positioned
and square on the spa.

Cover Support Arms

Coupler\ﬂ

To assemble & install (continued):

4,

6.

. Attach the provided 3-hook Towel Rack

Attach the 2 Coupler Bars together with the #8 x 3/4”
screws. Insert the Coupler Bars into the Cover Support
Arms. Slide the short Cover Support Arms into the
Side Pivot Arms.

. Lay the CoverBuddy on the spa cover.

Adjust the Coupler Bars and Support
Arms so that the Coupler Bars are
in parallel to the spa cover hinge

‘-\\\\\\\\\
and about 1/2” away. ‘ ‘ ‘ ‘ ‘ | ]

Using the #10 self-tapping screws, fasten the Cover
Support Arms to the Side Pivot Arms and the Coupler.

Be sure to rotate the Coupler Bar Pair so that the inserted
screws are at a horizontal angle with heads facing the
back of the spa.

Towel
Rack

on the preferred side of your CoverBuddy
by simply snapping it into place and
inserting the middle self-tapping screw.

YOU ARE DONE!

CAUTION: do not use the CoverBuddy in
high wind conditions (greater than 10 mph).
Injury from the spa cover being blown over
and impacting the spa user can occur.

= §
www.poolandhottubdepot.com

Jan2013



CoverBuddy

Instructions pour l'installation

Cover Support Arms

Coupler

Montants du Support—— |

Bras de Pivot — |

Pour assembler et installer:

1. Utiliser les vis no 10 de 1 po et fixer le montant droit du
coté droit et le montant gauche du c6té gauche du spa.
ATTENTION : Afin de prévenir tout bris de la structure du
spa, percer des trous a l'aide d’une perceuse et d'une meche
1/16 po
La hauteur du montage est facultative

8" ({r 12”/

- 9”

En fixant les montants du support a 8 po du rebord du spa
et a 9 po du coin du spa (voir dessin), un dégagement de
9 po derriere le spa sera nécessaire. Environ 75% du
couvercle du spa sera au-dessus du spa dans la position

de rangement. En fixant les montants du support a 12 po
du rebord du spa et a 9 po du coin du spa, un dégagement

de 15 po derriére le spa sera nécessaire. Et environ 50% du

couvercle du spa sera au-dessus du spa dans la position
de rangement.

2. Joignez les bras de pivot aux montants.

bras de pivot
3/8" by 3” boulon

rondelle
3/8"” décrou
de blocage

montants du support ' rondelle

Apres les avoir joint, incliner les montants en
position verticale.

3. Mettre le couvercle sur le spa, en s'asOne of the best purchases yqu kartilisaitedo savé §ertiestatpaoversaoercte draggi

sont bien positionnés.

4., Attacher les deux Coupler Bars en utilisant les vis
#8 X 34 po. Insérer les Coupler Bars dans les
Cover Support Arms. Glisser les petits Cover
Support Arms dans les bras de pivot.

. Etendre le CoverBuddy sur le couvercle du spa.
Ajuster les Coupler Bars et les
bras du support afin que les
Coupler Bars soient paralléles a la
charniére du couvercle du spa et a
152 po de la charniere.

. Utiliser les vis #10 auto-perceuse, fixer les
Cover Support Arms aux Coupler Bars et par la
suite les Cover Support Arms aux bras de pivot.

crochets a
serviette

. Attacher le 3 crochets a serviette du
coté désiré du CoverBuddy en le
pressant en place et en insérant
au la vis au milieu.

bras

C'est fini! de Pivot

ATTENTION : ne pas utiliser le CoverBuddy
lorsqu’il vente beaucoup (plus de 10mph).

du spa lorsqu'il est soulevé par le vent.

=4

www.poolandhottubdepot.com

JAN./2024



	TNT-Coverbuddy-inst-eng.pdf
	TNT-Coverbuddy-french-inst.pdf

